
0|WHVSURWRNROO�����������
�
1lUYDUDQGH���
0DWWLDV���6KDPOR��
:LOOLDP���%HQJWVVRQ��
+HQULN���/DUVVRQ��
+DQQD���/XQG��
.DUO�-RKDQ���.DUOVVRQ��
�
$JHQGD��
�

Ɣ cUVDYJLIW����I|UVODJ���DWW���K|MD���nUVDYJLIWHQ���WLOO��������NU���SHU���DQGHO����)|U���DWW���In���HQ���EXIIHUW���
Ɣ 1\���VW\UHOVH����UHYLVRUHU���RFK���YDOEHUHGQLQJ����%U\QROI����0DWWLDV����+HQULN���RFK���.DUO�-RKDQ���NDQ��

WlQND���VLJ���DWW���VLWWD���NYDU���RFK���+DQQD���NDQ���WlQND���VLJ���DWW���IRUWVlWWD���PHQ���LQWH���VRP��
VHNUHWHUDUH����:LOOLDP���YLOO���LQWH���IRUWVlWWD���

Ɣ %(6/87�����,���HQOLJW���PHG���DQOlJJQLQJVEHVOXWHW���lQGUDV���DQGHOVWDOHW���Sn���6.5($������������������

�����������������������������������������������������IUnQ�������WLOO��������HIWHUVRP���IDVWLJKHWHUQD���DQYlQGV��

VRP���KHOnUVERVWDG����

Ɣ �
Ɣ 0DWWLDV���OlJJHU���XW���LQIRUPDWLRQ���RP���NRPPDQGH���nUVP|WH���Sn���IDFHERRN���RFK���Sn���KHPVLGDQ���

2IILFLHOO���LQEMXGDQ���YLD���HPDLO���RFK���SRVW���NRPPHU���VHQDUH���
Ɣ .DUO�-RKDQ���NRPPHU���DWW���VNLFND���HWW���PHGERUJDUI|UVODJ���IUnQ���VDPIlOOLJKHWHQ���DQJnHQGH��

HOOMXVVSnU���PHOODQ���6|GUD���0DQQDEHUJ���RFK���0DQQDEHUJ���
Ɣ +|UD���PHG���NRPPXQHQ���RP���NUXNRU���WLOO���DWW���KD���VRP���IDUWKLQGHU���
Ɣ $NWLYLWHWVSODQ���I|U���RPUnGHW�����������DQRUGQDV���HQ���VWlGGDJ���Sn���RPUnGHW���HIWHU���nUVP|WHW���

bQQX���HQ���VWlGGDJ���L���VHSWHPEHU���GLVNXWHUDV���
�
�

9LG���SURWRNROOHW� -XVWHUDV��
�
�
��������������������������� ���������������������������
+DQQD���/XQG����6HNUHWHUDUH� 0DWWLDV���6KDPOR����2UGI|UDQGH��

�


